MAT 011, Factoring Trinomials, Part I (6.2)

1. Factor completely.
a. x2+6x+8

(X +9)(x+2)
b. x?—10x+ 25

(x-%) (x-5)
(x-$)*
c. x%+4x-—32

()« T % ~4)

d. x?+6xy + By?

(x+4y) (x+3y)

e. 13+14m+m? - W\7’+\\\W\*B

(e +1)(m+)

Name

KE T

f.y?—12y+ 11

(\/—I \j'(y-\)

g x%—x—30

(A=) +S)

iya*—2a% =15
(a* -5 (ar+3)
j.i6q —27 + g2 cb"’—»r b% -23

(ﬁb’fqi)(%—éﬁ

2. Factor completely. [Hint: check for any GCF’s first.]

a. 2z%+20z+32
(2?1102 + )
A(E+8) (2 +3)

b. x?+15x + 36
(X 18)(x+3)

. x%+xy—2y2
(x+29) (x~v)

d. 3x% —9xy + 45y

3rr-2uy  1SY)

g:3x3 — 12x% — 36x
3k (xr —ky -12)
3k (K=0)(x +3)

h.r? — 16r + 48

Cr - &) -12)

j- 2t% + 24t + 64
A(4% + 10t +32)
Q(4+R)(t +4)



e. —x?2+12x—-11 k.x3y% + x%y — 20x

""()(7“-\1% £ ISCSEIE Xy = 20)
—(x= W) (x-\) X XY +8) (xy ~4)

f. 7a3b —35a2h? + 42qh3 Ly?(x+1) = 2y(x +1) = 15(x + 1)
Fob (> - 5wl 6 b?) (X4 (-2 ~19)
Fudo (&—Zlo)(a—%\o) (x+1) (“\' -S)(y3)

3. Final all positive values for b or ¢ so that the polypomial is factorable.

a. y2—4y+c d.x% 4+ 6x +c

3,4 5 4 (7
e.x%+bx +15

b. n2—16n+c¢

IS 28, 39, 48, S4, 63, by g, (b
c. m?+bm-—27
b, Db

4. An object is thrown upward from the top of a 112{foot building with an initial velocity of 96 feet
per second. Neglecting air resistance, the height ¢f the object after t seconds is given by

~16t2 4+ 96t + 112. Factor this polynomial.

—lo(tr= bt - F)
=16 (- (1)



